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MNU 4-03a        Assessment 3        Bronze Level 

Name:   _________________ 

Class:   ________ 

Score: ____ 

5 
Percentage: % 

Outcome 1 - Problems in Context Outcome 2 - Long Multiplication 

A first class stamp costs  
£0·64. How much does it  
cost for 9 stamps? 

There are 7 days in a week.  
How many weeks are in 196 days? 

A car was bought for £12 048. After one  
year, it’s value dropped to £10 999.  
How much had the car dropped  
in value in the first year? 

72  14 

1116  18 

Outcome 3 - Long Division 

Choose your strategy for the following  
questions…then solve the problem! 

Work out the answer to the following… 

Work out the answer to the following… 
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